SHISEE (20215 %) CHNEBRER

Hfs ot
BEE 6,360.33 & FIREURREED 7,129.55
RER E5i3 52,015.74 R fr—— BBASYT 924.45
N EEBACH 8.21 L& INEF 8,054.00 >|
vt 58,384.28 im -
-3 E};ﬁl 27,554.65 | = a3 417.77 z
WA H 4,073.56 + BEMRST 1,584.44
9% BRR BERCH 274.65 | %1 M —)E f'; EMAZIL 93.15 > %
Vgt 31,902.86 ? o E=A2IL 26.13
by RBECHEE 90,287.14 = E — e
WAE | 9776056 iR : I5TE TR 540.77
# BiR—IL 24.74 REE 101,927.79| NEE 2,662.26 8,056.80
i 0.00
EHRMERH L] 32.16
EEd 0.26
&t 57,10 frm i 1
1
1 KEAE-AEHEYE-BRE v
> REEARD [ 7473.42
ca B3] [ 2.80 p—d
£ 1,474.49 [13yT)—GRER ) 0.00
KEWFHECH 435083 | E¥ 50249 | EX 3,848.34 FILE 26539 | ETATYE 0.00
x NEEHTH 228754 | EE 25502 | EH 2,032.52 ALYMRE-FD) 1,840.38 NEFSDRX 6.17
=4 & 63347 | EE 100.18 | &% 533.29 J3—FTILTA 83.89 XABR 0.00
" RERSTCH | B TA 2,38255 | HE 270.06 | EFE 2,112.49 BR—L 1,85509 | ~wkRRIL 221.35
= Z | EREA 492379 | B 45489 | =R 4,468.90 i 752.90 |TDBRYFRFLE 0.00
# /NEF 793981 | EE 82513 | E% 7,114.68 z ¥E-TOM 1,523.42 [(IEEDP 0.00
AERBRCH 28621 | EE 4274 | FR 24347 " i 6861 | Rur¥vvF 1.65 B
" & 14,864.39 W B L) 3y 229 | ZOMNERE 0.00
[l 77120 | BE® | 23687 | &5 | 53433 | S| % [ 0.53 ERRH 7.16 &
% ZOM=H EERACH 67.78 # ;E ATULRX 3.29 ABSHE 0.10 N
= ARHCH 0.00 ) iR 045 BaoTT 0.00 ®
- & 838.98 2 - e SOI5— 0.00 RER 0.00
= RyrREL 22057 | EE | 2456 | EFE | 20501 | w [ TILov— 000 | N—FF74RX%7 0.69 R
& BAEIRZ 33 7.16 [X%2 7 by 45— 12.41 & 0.00
&t 236.73 IVTY 145
TR-BAXEHEF 15,940.10 > T WE AR 1.39 [/MEZREMEE) 3.14
ICEIR 1.10 [ EEAas7F @D 0.00 "
X2 BRERHMOWAERIZ. MHERLFA—LLTUWET, 5 E) 0.38 |12 oh—F)vS &K 0.08
EEER 0.17 7l
&t 8,127.97 >
A
"B B 69.45 [ ALYNZDOMHE) 309.60
CHORBAR 106,284.40 y £ 4] BEXE 20.71 Bk -BEH 0.00
(S + TR-ARTH) o AZH® B3 Y 0.00
R % &% 399.76 |
| B TR &t (A) 16,003.95 |
= EROE | B 15— | 142 ] 11,193.30
BEJYMOL G (IEEER) (B) [ 3.31
| &R
-------------------------- e i B [ wWESTH ERII(IVes~ BEEEH(AB) | 16,007.26 |
‘J a—
EFERARSTSEIA~12A)
#=FER(T RER) 6,507.87 WO | ME-EE | BRI | L [ FLEE | UVAE ] & |
[ 3,018.60 | 1,421.13 | 1,435.82 | 480.94 | 12852 | 2287 | 6,507.87 |
BEER- B A+ S EEIR _ 17,701.17

YYLIILE 15.69% VYA E = ZHD A= T EEER = 1270227 x 100 = 15.69%




